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This is how the text reads — o o7
— FT7I7 1393032 MRPT 1A
For instance; that he said, he admitted in my presence

OVERVIEW

The X131 explained that the distinction between a 93X 121 12X 12 (who have a 7p11),
and a 1713 12 (who does not have a npin) is in a case where the son said that the
claimant admitted in our presence that he sold it to our father. n1901n defends this
X073 and negates the other X0,

- 191 12 1IN 12 DN )2 2UH999
The explanation of who is the one who states 7717 12°192, it is (either) the son of

the ©"R, the son of the 32X or the son of the 1913 -
- 9PN 19 PR IIN 290 DIYM

And therefore we understand the distinction that an 328 has no 1P even if he

claims that the claimant (1¥7¥2) admitted to me the he sold it to me? -
=19 999V AR NNN Y17 9P WLV NPIN Y ¥ )2 JaN

However the son of an 12X or an 0 X has a 7P when he claims, ‘you (the
7v7vn) have admitted to my father (the 721X) in my presence that you sold it to
him’, in which case -
= 41109a7 73999 9N YA INT 192 )N
He is believed with this claim, for he has a %, for the j2 could have said, ‘I
bought it from you’. This ruling applies (only) to a DX 121 72X J2 -
- NYD ANTIN IND 191D NNY INTINT DN 1Y PN )91 )3 Yax
However, the son of a 713 has no 7Pt even if he claims; ‘you admitted to my

!'In our n1na the text reads 7717 11°192 @7 MR XpT 1130 See later in this moon.
2 The term w1d here is to explain a certain difficulty with X073 mown. If the X0 would be 7717 17102 77TV MARPT,
the phrase 777 1°192 (he admitted in our presence) in the plural, would be understood, since he admitted in the
presence of two 2°7v. However according to m»o1n no7°a which is 7717 11°192 Kp7 (that he said, ‘he admitted in our
presence’) is contradictory; since it is only the son who is making the claim, how can he say 11°192 (in our presence).
mooin therefore explains that the word 17192 is referring to all three sons, 7213 12 72 72 0% 13, Each one of (all) the
three say the same thing, ‘he admitted in our (collective) presence’.
3 We have no reason to believe this claim, even though the 721% is holding the article, for we assume that he received
this article as an X (to repair it, etc.), and therefore his holding is no indication that it belongs to him.
4 1If the son would have claimed 7n1ar 72 (while in possession of the item) he would be believed, since he is not an
1K, therefore he has a 7pm and we believe the claim of 7in1ar 71 (like any other person who is believed that
whatever he is holding belongs to him). Therefore even if he claims, ‘I received it from my father (who has no fp),
however I know for a fact that you admitted that you sold it to him’, we believe that he is claiming the truth, with the
Wi of anaar qrn.
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father that you sold it to him’, for the admission that the “y7v» admitted to his

father the 7913, is not an admission; it was coerced” -
= S9NNYY 199N 1YY 2VNN NN 1T NIIIY N ITINT IND INT

For if the 9v7y» would not have admitted to the 7713 that he sold it to the 7773, the
1212 would have dragged him and his donkey to the law officers —

mooIn rejects the other X0
= 07Y Y9INRPT 1N 71909 XY HaN

However the text does not read; ‘for instance the witnesses say ‘the 2wawn

admitted that he sold it to him in our presence’’. This is incorrect -
= £33N 117 11712291) TN JIIN 19 DN N132T N7 NPD YTINT DY NIIN N N7

For if there are 2>7v that the 7y v» admitted to the 9>7X) 72X that they bought

from the 7v7v», then the ©9IXY 3218 themselves would be believed, not only the 12
DX 121 1IN -
- P5TNNY 099N NNY PIIN 12 DIIN 12 D71Y NIINT 113 1Y

And additionally since there are 2>7¥ (according to this X07) that the vy sold
it to their fathers, why is it necessary for the oK J2 and the 2R 32 to be in

possession of the contested item -
105 12929 27170 RIINT 1993 1729952 1Y 199979 993 AP NYa

Even if there is no npm (the 97X X 12 are not in possession of the item)

nevertheless we would establish it in their possession since there are 237y that the
7¥7vn admitted that it was sold. The above is in the name of the n"'1.

SUMMARY
The distinction between 12X 72 and j712 j2 is when the son claims that the “yavn
was 771 to my father (but not that there are o>7v that he was 7710).

THINKING IT OVER

MooIN negates the X073 of 7Y *KRPT in two ways. Firstly that the 7% should also
have a P (not just the 12X 12), and secondly why does the 12X 12 need to be in
possession of the item. Why was it necessary to bring both challenges?

3 This means that even if we believe the 1772 12 that the 7y wn admitted to the 7973 (we believe him since he has a n
of nn1ar 71°n), nevertheless the 1213 12 has no 7PN, despite the fact that there was an admission, since the admission is
not sincere; it is a meaningless admission.
¢ The 1912 would have fabricated that they violated the law somehow.
7 See footnote # 1. This is also the X07° of the "awA.
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